Table122: z/3 — z2 /3

7 255 65025 510

8 511 261121 1022

9 1023 1046529 2046

10 2047 4190209 4094

1 4095 16769025 8190

12

13 16383 268402689 32766

14 32767 1073676289 65534

15 65535 4294836225 131070

.
17 262143 68718952449 524286

18 1048575
19 1048575 1099509530625 2097150 2097151
20 2097151 4398042316801 4194302 4194303
21 4194303 17592177655809 8388606 8388607
22 8388607 70368727400449 16777214 16777215
23 16777215 281474943156225 33554430 33554431
24 33554431 1125899839733760 67108862 67108863
25 67108863 4503599493152770 134217726 134217727
26 134217727 18014398241046500 268435454 268435455
27 268435455 72057593501057000 536870910 536870911
28 536870911 288230375077970000 1073741822 1073741823
29 1073741823 1152921502459360000 2147483646

30 4294967295
31 4294967295 18446744065119600000 8589934590 8589934591
32 8589934591 73786976277658300000 17179869182 17179869183
33 17179869183 295147905144993000000 34359738366 34359738367
34 34359738367 1180591620648690000000 68719476734 68719476735
35 68719476735 4722366482732210000000 137438953470 137438953471
36 137438953471 18889465931203700000000 274877906942 274877906943
37 274877906943 75557863725364600000000 549755813886 549755813887
38 549755813887 302231454902558000000000 1099511627774 1099511627775
39 1099511627775 1208925819612430000000000 2199023255550 2199023255551
40 2199023255551 4835703278454120000000000 4398046511102 4398046511103
4 4398046511103 19342813113825300000000000 8796093022206 8796093022207
42 8796093022207 77371252455318700000000000 17592186044414 17592186044415
43 17592186044415 309485009821310000000000000 35184372088830 35184372088831
44 35184372088831 1237940039285310000000000000 70368744177662 70368744177663
45 70368744177663 4951760157141380000000000000 140737488355326 140737488355327
46 140737488355327 19807040628565800000000000000 281474976710654 281474976710655
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z + 8 and z2 + 3 show, as expected, that Mp and Mp? (for z>3) are never divisible by 3. This is a necessary, but not sufficient requirement for primality, as many z-candidates that are not prime show (2n+1: half eliminated#prime ). =~ Copyright©2022, Reginald Brooks, Brooks Design. All rights reserved.




